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=0 gE MHIA MBS (HEH) 236,781 225,281 11,500
SEXH AZH 29 236,781 225,281 11,500
S3AE &L FHRA2(HEH) 108,522 98,522 10,000
401 Al HIZ 2018 15,000 5,000 10,000
01 A& HI 15,000 5,000 10,000
OHZE S8 L &SA tHEXE EHHI 10,000 0 10,000
FOUNXNHH 2 (HEY) 156,000 13,500 1,500
301 et A=z 1,500 0 1,500
09 EALEHIE &S 1,500 0 1,500
OFUXX|E X2 nx X 1,500 0 1,500
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ous s==Z& (L=230m) 30,000 0 30,000
O#E = &I (L=220m) 25,000 0 25,000
OQuUE t2sl& ZEIEZE(A=200M ) 26,000 0 26,000
Ogs =252 (L=50m) 30,000 0 30,000
Oz MY =& LA (L=100m) 30,000 0 30,000
o2t =2 & (L=230m) 30,000 0 30,000
O&X sz X&(L=200m) 25,000 0 25,000
Ooud =4 14,000 0 14,000
A2 FOHERAMY(HEH) 116,000 0 116,000
401 Al HIZ 201 Y] 116,000 0 116,000
01 A& HI 116,000 0 116,000
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O2El A= o=+ (L=50m) 10,000 0 10,000
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